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A. Choose the word that has the same meaning as the underlined words in the
seniences.
1.The police were following up several leads.
(A)clues  (B)criminals  {C)cases (D)problems
2.Hollywood's newest Cinderella stories seek to inject some feminist messages into
the age-old fantasy.
(A)delete (B)add (C)change (d)illuminate
3.The city has left an indelible impression on me.
(A)intriguing (B)favorable (C)terrible (D)memorable
4.The government was given the power to protect consumers from deceptive and
unfair advertising.
(A)incredible  (B)misleading (C)convincing  (D)reliable
5.People should trust the impartiality of the legal system.
(A)fairness (B)knowledge (C)laws (D)truth
B. Select the word or phrase that best completes the meaning of the statement as a
whole.
6.Nearly every aspect of economic life is affected by
(A)they are seasonal variations
(B) variations are seasonal
(C) that seasonal variations
(D)seasonal variations
7. Microscopes make small things appear larger than
(A)really are
(B)are really
(C) are they really
(D)they really are
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8. . glasses can correct most sight defects in healthy eyes.
{A)When well fitted

(BYWell fitted when

(C)Well fitted if

(D)If well fitted when

9.The city of Montreal  over 70square miles.

{(A)covers

(B)that covers

(C)covering

(D)is covered

10.New York’s Statue of Liberty was designed to be a beacon for ships and a
monument

(A)the two

(B) in addition to

(C)as well

(D)together

II. Reading Comprehension: Choose the best answer to each question based on
the following passage. 10%

Can trees talk? Yes—but not in words. Scientists have reason to believe that trees do
communicate with each other. Not long ago, researchers learned some surprising
things. First, a willow tree attacked in the woods by caterpillars changed the
chemistry of its leaves and makes them taste so awful that the caterpillars got
disgusted and stopped eating them. Then, even more astonishing, the tree sent out
special vapors— an alarm signal stimulating its neighbors to change the chemistry of
their own leaves and makes them less tasty.

Communication, of course, doesn’t need to be in words. We can talk to each other by
a smile, a frown, a shrug of our shoulders, a gesture with our hands. We know that
birds and animals use a whole vocabulary of songs, sounds, and movements. Bees
dance their signals, flying in certain patterns that tell other bees where to find nectar
for honey. So why shouldn’t trees have ways of sending messages?

1. _____ The willow tree described in the passage protected itself by
(A) growing more branches (B) changing its leaf chemistry
{C) communicating with birds and bees (D) providing shelter for
caterpillars
2. According to the passage, the willow tree was able to communicate with
other trees by

(A) waving its branches (B) dropping its leaves
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(C) giving off a special vapor (D)) changing the color of its trunk

3. The author states that bees are able to tell each other about the location of
(A) honey (B) people (C) nectar (D) beehives

4. The author believes that the incident described in the passage
(A) cannot be taken seriously (B) seems perfectly reasonable
(C) should no longer be permitted (D) must be investigated more thoroughly

5. __ Which ofthe following statements best describes the organization of the
passage?

(A) A scientific term is invented and its definition is provided.

(B) A phenomenon is described and some possible causes are suggested.
(C) The views of two researchers are described and contrasted.

(D) A specific case is given to illustrate a general principle.

II1.Essay Writing 20%(Write a short essay whose length should be controlled
around 250words)

The Internet can offer some wonderful possibilities. However, it also generates some
problems.  One problem is that more and more people become addicted to the
Internet.  Please address this problem and provide some solutions.




